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Section A consists of forty multiple choice questions that each counts 1 mark The answers to these
questions must be indicated on the mark-reading sheet provided. Write your student number and the
uruque number 481957 on the mark-reading sheet

Section B compnses THREE paragraph/caiculation type questions Each question counts 10 marks
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THIS PAPER REMAINS THE PROPERTY OF THE UNIVERSITY OF SOUTH AFRICA AND MAY
NOT BE REMOVED FROM THE EXAMINATION ROOM
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provided on the examination paper
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SECTION A: MULTIPLE-CHOICE QUESTIONS

This section consists of 40 multiple choice questions. Use the mark-reading sheet
provided to indicate your answers.

1 Mr Agnores a red traffic light and collides with an oncoming vehicle Mr A’s negligent
behaviour 1s referred to as a

hWOMN =

moral hazard
legal hazard
human perll
rsk

2 The standard deviation is

W=

a measure of central tendency

obtained by multiplying each outcome by the probability of its occurrence

a measure of dispersion around the expected value

a measure of dispersion useful in comparing the risk of probability distributions
with different expected returns

3 An authonsed strike by truck drivers in South Africa can be classified as a(n)

1
2
3
4

particular event nisk
incidental nsk
fundamental event nsk
unsystematic nsk

4 Which of the following are associated with subjective uncertainty?

o oo

Accidents

Natural sciences
Poker card games
Fire

Choose the correct combination.

BWN -

all of the above
a, cd

a, d

b, ¢

5 Operating leverage

1

Is an element of core business risks of a manufacturing concemn

Is measured by the percentage fixed costs that goes into the production of
goods

represents an unsystematic risk element to a manufacturing concern

relies on the production function of a manufacturing concern
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Choose the correct combination.

,d

oL o
cooTo
Qoo

OO =
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Core business nisks to a ftinancial institution include amongst others the following

Interest rate fluctuation
Vanabihty of profit margin
Vanability of cost
Currency movement

O 0T w

Choose the correct combination.

, d

o]

Bwrn =
P oW
ToaoT

d
,d

The traditional approach to nsk management i1s characterised by

nsk balkanisation

a silo mentality towards managing risks
the proactive management of risks
managing risks In cost centres

o0 oo

Choose the correct combination.

,d

Q..__U'OCT

OpoTE
Qao

BN -

A business invests R10 000 in a fixed interest secunty with a coupon rate of 15
percent, repayable after five years With thus particular investment the business 1s

exposedto  rnisk

tnterest rate
liquidity
Investment
credit

BN =
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9 A South African bank has more US Dollars in labilities than Rands A depreciation of
the US Dollar against the Rand will expose the bankto  nisk

BWN =

interest rate
hquidity
Investment
currency

10 Alternative nsk transfer techniques (ART)

0o o

Involve the transfer of nsk to capital markets

give investment banks a new field of activities

create opportunities for non-financial enterprises to transfer nsk at lower cost
provide insurance companies with an extension of their capacity base

Choose the correct combination.

£WN -

I o g
TO 0T
0D ooo

, d

11 Enterprise nsk management i1s charactensed by a

1
2
3
4

narrow focus on hazard risks

comprehensive, inclusive and proactive approach to sk management
functional approach to risk management responsibilities

lack of consistency in terms of level of detall and reporting formats

12 Poor data integnty 1s an example of  nisk

P WA -

operational
fundamental
Investment
currency

13 When formulating nsk management policies, management should address the
following aspects

O 0T

Responsibilities of risk oversight personnel

Approved methodologies for measunng rnisks

Risk tolerance levels

The relevant nsk authornties in terms of commitment of resources to high-nsk
activities
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Choose the correct combination

AN -

, d

b !

b
b,
b
c

oo oo
000

1

Enterprise Risk Management

a
b
c
d

exclusively assesses upside risks

focuses on tangible and intangible assets

is embedded n the processes and structures of the enterprise
Is a reactive approach to nsk management

Choose the correct combination

WM =

, d

O T O T

0o oo

H

]

U oo

15 Good corporate governance

16

17

o O OTo

ensures the adherence to legislation

assists with the protection of scares resources
guarantees improved corporate performance
enhances environmental responsibility

Choose the correct combination.

BN -

ab,cd
a, c,d
b,c,d
a, b c

The focussed rsk management modei

1

2
3
4

provides for a Chief Risk Officer (CRO) who oversees the management of all
nsk types

Is more suitable for manufacturing concerns

appoints the CRO as the champion of the business nsk management model
1s more suited for use by financial institutions

In terms of the generic enterprise nsk oversight structure the

1
2

3

chief executive officer defines the enterpnse’s nsk prionties

business risk management function establishes an integrated framework for
managing risks

risk management executive committee validates rnsk management measures
business units enforce policy and mits on risks
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18 In terms of good corporate governance

O TN

nsk identification should be directed in the context of the company’s purpose
the CEQO should approve the company’s chosen risk philosophy

the Chief Risk Officer should be responsible for the process of risk
management

nsk assessment should be done periodically

Choose the correct combination.

P2 WON =

, d

PO
TO oo
9]

d
d

19 The implementation of an Enterprise Risk Management approach n organisations

a
b
c
d

may be hampered by

the adversanal relationship between line managers and staff nsk managers
improper yardsticks used to measure success In an organisation

a weak risk culture

proceeding incrementally in implementing ERM

Choose the correct combination.

WO =

,d

1 3

’ 1

oo oo
O oTo
Qo000

H 1

Answer the next question by making use of the following:

Probability Outcome
020 R100
050 R200
030 R300

20 The expected value 1s

21

1
2
3
4
S

1
2
3
4

R100
R200
R210
R300

WOT analysis

Is primarily used to evaluate event risks

can be of assistance to insurance intermediaries

graphically represents any form of flow within and to the enterpnse
identifies rnisks in the internal and external enterprise environment
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22 Risk forms the basis from which insurers ultimately calculate premium requirements

23

24

25

26

and determine the extent to which they are prepared to insure the client

1 identification

2 evaluation

3 financing

4 monitoring

Indicate the correct statement

1 Maximum possible loss 1s the highest loss that could result from a single event
under unfavourable conditions

2 Normal loss expectancy describes the extent to which various nsks could
accumulate mto a large loss as a result of the operation of a single event

3 “As If” analysis takes full cognisance of the real value of an asset

4 Business Interruption entalls a specific analysis of the past history of an
organisation

Ezweni Company has three identical manufactunng plants, one cn the Atlantic Coast,

one on the Pacific coast, and one in Eastern Cape Each plant i1s valued at R50 mullion
millon Ezweni’s nsk manager is concerned about the damage which could be caused
by a single cold front The nsk manager believes there 1s an extremely low probability

that a single cold front could destroy more than one plant because they are located so
far apart What ts the maximum possible loss associated with a single cold front?

1 RO mullion

2 R50 milhon
3 R100 million
4 R150 million

Risk avoidance as a risk control technique 1s best suited for  losses

1 low-frequency, low-severity

2 low-frequency, high-severity
3 high-frequency, low-severity
4 high-frequency, high-seventy

Which of the following fire losses would you regard as the most serious?

RS miflion which occurs every ten years

R3 milhon which occurs every seven years

R1 million which occurs every three years

R5 milhon which occurs every seventeen years

B WN =
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27 A manufacturning firm identified that it would have difficulties sourcing raw maternals
locally, so it decided to relocate its production facilities According to Enterprise Risk
Management (ERM), this decision represents which of the following responses to risk?

1 Risk reduction

2 Risk assumption
3 Risk sharing

4 Risk acceptance

28 Collins Van Lines requires each of their truck drivers to complete a driver safety course
each year Requinng dnvers to complete a drniver safety course 1s an example of nsk

1 retention
2 transter
3 avoldance
4 control
29 Futures contracts are all - based contracts, while forward and swap contracts are

- based contracts

1 Over-the-counter, exchange
2 Exchange, over-the-counter
3 Commodity, financial

4 Long-term, short-term

30 A futures contract

1 1s an agreement to buy or sell a specified amount of an asset at the spot price
on the expiration date of the contract

2 Is an agreement to buy or sell a specified amount of an asset at a
predetermined price on the expiration date of the contract

3 gives the buyer the rnight, but not the obligation, to buy an asset sometime In the
future

4 IS a contract to be signed m the future by the buyer and the seller of the
commodity

31 The pnice that the buyer of the option pays to acquire the option ts called the

strike price
exercise price
execution price
premium

O =
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USE THE FOLLOWING INFORMATION TO ANSWER QUESTIONS 32 TO 34

An organisation uses short-term finance by issuing bankers' acceptances The
treasurer expects short-term interest rates to nse and wants to hedge the next BA-
rollover by buying a FRA at 15, 85% Assume the following apphes

Nominal amount R500, 000
Rollover date 15 August
Settlement date 15 Aprl
Spot rate on 15 August 18, 5%

FRA spot (bid/offer) 15, 0/15, 5%
Number of days in the year 365

The cost of the 1ssuing of the banker's acceptances will be

1 R30, 410 96
7 R38, 219 18
3 R25, 479 45
4 R45, 616 44

In order to lock Iin a discount rate of 15, 5%

1 the company will have to receive an amount of R3 698, 63from the other party
to the transaction

2 the company will have to pay over an amount of R3 698, 63 to the other party of
the transaction

3 the business will have to receive an amount of R4 931, 51 from the other party
to the transaction

4 the company will have to pay over an amount of R4 931, 51 to the other pany of

the transaction
The cost of the roll-over to the company (holder of the FRA) amounts to

R45 616, 44
R25 479, 45
R41 095, 90
R26 712, 33

M WMo =

Which one of the following 1s a major component of the enterprise nsk management
(ERM) framework?

Risk appetite
Oversight structure
Architecture
Strategy

S WN =
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Which one of the following dictates the nature and level of nsks that are acceptable to
the enterprise and its various business units?

1 Capital-at-risk

2 Risk appetite

3 Value proposition
4 Risk strategy

Which one of the following IImits 1s often used as management triggers for re-
evaluating the wisdom of continuing to hoid certain positions before they suffer some
pre-defined maximum threshold levei of losses?

1 Value-at-risk

2 rnsk sensitivity

3 stress/scenario

4 stop loss/advisory

Which one of the following techniques 1s used to determine the highest amount of

money a portfolio could lose In a period of time at a certain confidence level?

1 Value-at-nisk

2 Risk-adjusted return on capital
3 Cash tlow at nsk

4 Earnings at nsk

Which one of the following is an enabler of continuous improvement philosophy In risk
monitorng”?

1 ldentification of emerging nsks

2 Benchmarking of performance to identify best practices
3 Including and emphasising learning in strategic plans

4 Measuring of the actual performance

Risk-adjusted return on capital
1 measures performance, taking into account the nsks inherent in a portfolio

incorporates the nskiness of business activity into the measurement of the
expected return from that activity

3 strengthens the links between performance, accountability and established risk
threshoids
4 screens capital projects when using discounted cash flow techniques

[40 X 1 = 40 marks]
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SECTION B: PARAGRAPH QUESTIONS AND CALCULATIONS

Question 1 (10 marks)

Assume the following hypothetical distribution of possible losses due to fire at two separate

premises of a business

PREMISES A
OUTCOME AMOUNT OF LOSS PROBABILITY OF
OUTCOME
A R10 000 0,8
B R15 000 0,2
PREMISES B
OUTCOME AMOUNT OF LOSS PROBABILITY OF
QUTCOME
A R10 000 0,50
B R15 000 0,50

You are required to determine the following variables for the above set of outcomes Show all

calculations.

11  The expected outcome of premises B

12 The vanance of Premises A

13 The standard deviation of Premises B
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14  The coefficient of vanation of Premises A

15  Rate the risk of premises A compared to Premises B in terms of fire losses

(5x2=10)

SECTION B
Question 2 (10 marks)

21  Distinguish between the different bases that can be used to indicate the real value of
an asset during the risk evaluation process 4

[TURN OVER]
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22 ldentify the four main types of risks as classified in terms of frequency and seventy
With the aid of a matnx briefly explain how the varous types of nsks dictate the risk
control approach taken by an organisation 6

Question 3 (10 marks)

A six-month American call option 1s written on a commodity at a strike price (X) of R88 The
option premium 1s RO 30 The market price (S) at the time the option was wntten was R78 25
Four months after the option 1s wrtten the market price of the commodity rises to R88 75

31  Argue whether the buyer of the option should exercise the option at the current market
price Motivate your answer

5
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32  Suppose borrower A can obtain R2 million for ten years at a floating rate of prime plus
0, 8% but that he has to pay a fixed rate of 18% on a debenture for the same term
Borrower B can borrow floating funds at the prime rate and fixed rate funds at 15%

Borrower A and B agree to enter into a swap agreement in which borrower A agrees to
pay an additional 2% interest premium to borrower B

321 With regard to the aforementioned scenario, determine the effective cost of borrowing
for both participants to the swap Show all calculations 3

322 Highlight two purposes of swap transactions 2

[3 x 10 = 30 marks]
TOTAL MARKS: 70
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DO YOUR ROUGH WORK HERE.
NO ROUGH WORK WILL BE MARKED.
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DO YOUR ROUGH WORK HERE.
NO ROUGH WORK WILL BE MARKED.
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